12/ASY

SR T O

MUDULAR CABINE T
L VELLER

Assembly InstTructions

READ 'UCTIONS BEFORE ASSEMBLING

Toll—free Tel: 800—325—-0801 Toll-free Fax: 888—859—-2121 www.equipto.com
© EQUIPTO 2008




ECN #

DESCRIPTION DATE rw(z BY |CH K BY

Issued 07/14/08 | Pes 1D

(ASTOR B
10064
13187
28 Flot NUT PLATE
WASHER
1) ATTACH 3/8 NUT TO
13191 LEVELLER FOOT, PLACE
3/8 HEX FLAT WASHER AND CASTOR
NUT CHANNEL ON TOP

LEVELLER

3/8 NYLUCK
HEX NUT

37 INSERT BLOCK INTO LIFT
CHANNEL OPENING WITH
LEVELLER FOOT OUTWARD
NOTE : FLAT WASHER MUST BE
T0 THE UNDER- SIDE OF THE
CHANNEL, (CABINET NOT
SHOWN FOR CLARITYD

LIFT
CHANNEL

0) TIGHTEN 3/8 NUT FINGER TIGHT
REPEAT STEPT 1 - 4 FOR REMAINING
LEVELLER UNITNOTE : AFTER CABINETS
HAVE BEEN LEVELLED, POSITION MUST
BE LOCKED BY TIGHTENING 3/8 NUT
AGAINST CHANNEL

DJUSTMENTS MADE BY
TURNING HEX ON SWIVEL,
COUNTER-CLUOCKWISE TO RAISE
AND CLOCKWISE TO LOWER,

C) THREAD LEVELLER FOOT
INTO NUT BLOCK., LEAVE
ABOUT 174 IN. BETWEEN
WASHER AND  CASTOR
CHANNEL, THREAD NYLOCK

NUT ONTO END OF LEVELLER
FOOT, LEAVE ABOUT 1-1/2 TO
2 THREADS SHOWING ON TOP

4) ALIGN HOLES
SECURE WITH (4)
0/16-18 BOLTS AND
FLAT WASHERS

13173

o/16 FLAT
13193 ASHER (4)
0/16-18
HEX HEAD
BOLT (4
G s 2 CONFIDENTIAL: This, docurent and all information contained herein s the
& ?B%g_% Consolidated Storage Companies, Inc. and may not be disclosed
1o unauthorized persons or reproduced u« p_ﬁaﬂuﬂ_mo_ﬂ.a u.ﬂmuxmo“m m:«zu..ﬂw_m.
Consolidated Storage Compares, T |0 aaeg o B e Eompanet, i
© 3u W QPN
N - -
TOLERANCESHEXCEPT AS NOTED) po (e ] MODULAR CABINET LEVELLER
Xk 01 -
o TR INSTALLATION INSTRUCTIONS
Anglesit 10° el
PART NUMBER: DRAVING NUMBER REVISIN SCALE IVG SZB SHEET:
127ASY 127ASY A 11 A 1of1




	127ASY PG TITLE
	127ASY PG 1

